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Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In the two sets given below. Set I provides levels of teaching while Set II gives theiwr focus of

concern :
Set I
(Levels of Teaching)
(a) Autonomous development level (1)
(b) Memory level (11)
(c) Understanding level (111)
(d) Reflective level (1v)

(V)

Select correct answer from the options given below :

(1) (a)-(1). (b)-(11), (c)-(1v). (d)-(v)

(2) (a)-(1). (b)-(1v). (e)-(111). (d)-(11)
(3) (a)-(11). (b)-(a11). (¢)-(1v). (d)-(2)
(4) (a)-(v). (b)-(1). (e)-(111). (d)-(11)

Options :

6154758001, 1
6154758002, 2
£154752003 2
5154758004, 4

Set II
(Focus of concern)
Problem raising and problem solving
Affects and feelings
Recall of factz and informations

Seeing of relationship among facts and
their examples

Peer learning

Question Number : 1 Question Id : 6154752051 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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(1) (a)-(1). (b)-(11}. (c)-(av). (d)-(v)

(2) (a)-(1). (b)-(1v). (e)-(111). (d)-(11)

(3) (a)-(11), (b)-(111). (c)-(1v). (d)-(1)

(4) (a)-(v). (b)-(1v). (¢)-(111). (d)-(11)
Options :

E154758001. 1
E1547538002 2
E1547538003. 3
5154758004, 4
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Question Number : 2 Question Id : 6154752052 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

In the context of classroom teaching., the foundation on which a warm and nurturing

relationship with learners can be built 1s called :

(1) Probing
(3) Structuring

Options :
154758005 1

E154758006, 2
E1547538007 3
E1547538008. 4

{(2)
(4)

Teacher Affect
Feedback

Question Number : 2 Question Id : 6154752052 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

E154758005. 1
E1547538006, 2
E1547538007. 3
E154758005. 4

Question Number : 3 Question Id : 6154752053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

From the list of learning outcomes indicated below. identify those which are said to be high
level outcomes :

(a) Learning of facts and rules

(b) Showing the abilitv to analvse and svnthesize
(c) Awareness, responding and valuing

(d) Imitation. manipulation and precision

(e) Articulation and naturahization

(f) Organization and characterization

Select correct answer from the options given below :

(1) (b). (e) and (f) (2) (a). (b) and (ec)
(3) (b). (c) and (d) (4) (a). (c) and ()
Options :

E1547580059. 1
6154753010, 2
E154758011. 3
E154758012 4

Question Number : 3 Question Id : 6154752053 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(3) (b () F(d) 4 (a), (© D
Options :

6154753009, 1
E154758010 2
E154758011. 3
E15475801% 4

Question Number : 4 Question Id : 6154752054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following sequences correctly reflects the evolution of educational

technology support in higher education?

(1) Programmed learning material, text book support, online and modular material

(2) Text book supplementation, programmed learning material, modular material and

online methods

(3) Modular material, programmed learning, online and text book supplementation

(4) Online methods, modular material, text-book supplementation and programmed

learning material

Options :
154758012 1

E154758014. 2
E154758015 3



E154758016. 4

Question Number : 4 Question Id : 6154752054 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547558013 1
6154758014 2
6154758015 3
6154758016, 4

Question Number : 5 Question Id : 6154752055 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the two zets given below 1n which Set I mentions levels of measurment and Set II
thelr properties :

Set I Set I1
(Levelz of measurement) (Properties)
(a) Nominal (1)  Classification. order. equal umits and
absolute zero
(b)  Ordinal (1) Claszsification. order and equal units
(c) Interval (111) Classification
(d) Ratio (1v) Classification and order

Select correct answer from the options given below :

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-{111). (c)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1). (c)-(11), (d)-(1v)
(4) (a)-(111). (b)-(iv). (c)-(11). (d)-(1)



Options :

6154758017 1
£154758018. 2
£1547520149 2
154758020, 4

Question Number : 5 Question Id : 6154752055 Question Type : CQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (a)-(1). (b)-(i1), (c)-(1i1), (d)}-(1v)
(2) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1). (e)-(11). (d)-(1v)
(4) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

Options :

6154758017, 1

6154758018, 2

6154758019 3
6154753020, 4

Question Number : 6 Question Id : 6154752056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the tests from the list given below. which are maximum performance tests in the

context of research :

(a) Personality tests
(h) Projective personality tests
(c) Achlevement tests

(d) Attitude tests
(e) Intelligence tests

(f) Aptitude tests

Choose correct answer from the options given below :

(1) {a). (b) and (c) (2) (b). (c) and (e)
(3) (c). (e) and (f) (4) (a).(d)and (D)
Options :

E154758021. 1
B154r58022 2
B154758023 3
E154758024. 4

Question Number : 6 Question Id : 6154752056 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

6154758021 1
£154758022. 2
6154758023 2
6154758024, 4

Question Number : 7 Question Id : 6154752057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following research 1s cyvelic in nature?

(1) Fundamental research

(2) Applied research

(3) Action research
{4) Evaluative research
Options :

5154758025 1
6154758026 2
E154758027. 3
6154753028 4

Question Number : 7 Question Id : 6154752057 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
61547550251
6154758026, 2
6154758027, 2
6154758028, 4

Question Number : 8 Question Id : 6154752058 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which of the following sampling methods emploved 1n research. the units comprising the

sample are given equal and independent chance?

(1) Stage sampling
(2) Cluster sampling
(3) Dimensional sampling

(4) Snowhball sampling
Options :

E154758029 1

6154758030 2

6154758031 =

6154758032, 4

Question Number : 8 Question Id : 6154752058 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

6154758029 1
6154758020, 2
6154758021, 3
6154758032 4

Question Number : 9 Question Id : 6154752059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The 1ssue of research ethics becomes relevant in which of the following stages of rezearch?

(a) Problem selection

(b) Hypothesis formulation

(c) Hypothesis testing

(d) Data analyvsis and interpretation

(e) Defining of research population

Select correct answer from the following options :

(1) (a) and (b) (2)  (c) and (d)
(3) (b) and (e) (4) (c)and (e)
Options :

E154758033. 1
E1547580234 2
5154758035 3
E154758036. 4

Question Number : 9 Question Id : 6154752059 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

6154753032 1
E1547580234, 2
E154758035 3
E1547538036. 4

Question Number : 10 Question Id : 6154752060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which type of qualitative research designs. individual stories to describe the lives of
people are explored?

(1) Ethnography (2) Grounded theory research
(3) Svmbolic interaction (4) Narrative research
Options :

E154758037. 1
61547538038 2
E154758039. 3
E154758040 4

Question Number : 10 Question Id : 6154752060 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

51547580371
6154758038 2
61547538039 3
E154758040, 4

Question Number : 11 Question Id : 6154752061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Mini-summaries at the end of each class 12 called

(1) Verbal break-up

(2) Clhichéd conclusion

(3) Verbal signposting

(4) Staggered conclusion
Options :

E154755041. 1
6154753042 2
E154758043 3
E154758044, 4

Question Number : 11 Question Id : 6154752061 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

£154755041 1
&154758042, 2
6154758043 2
6154758044 4

Question Number : 12 Question Id : 6154752062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Micro expressions, as part of classroom communication. are

(1) negative
(2) positive
(3) manipulative

(4) fleeting

Options :

5154758045 1
6154758046, 2
6154758047, 3
6154758045, 4

Question Number : 12 Question Id : 6154752062 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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154758045 1
£154752046, 2



E154758047 3
5154758048, 4

Question Number : 13 Question Id : 6154752063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are essential for good classroom communication?

(a) Over-emphasis on certain words
(h) Use of gobbledvgook

{c) Proper emplovment of redundancy
(d) Immediacy of feedback

(e) Non-verbal cues

(f) Sidelining student criticism

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (D
(3) (c). (d) and (e) (4) (d). (e) and ()
Options :

5154758045 1
61547538050, 2
6154753051, 3
E154758052, 4

Question Number : 13 Question Id : 6154752063 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

5154758045 1
61547538050 2
61547538051, 3
6154753052 4

Question Number : 14 Question Id : 6154752064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Pitch of the teacher's voice 1n the classroom 1s described as

(1) Lingustic (2) Paralinguistic
(3) Non-linguistic (4) Macro-linguistic
Options :

E154758053. 1
E154758054 2
6154758055 3
E154758056. 4

Question Number : 14 Question Id : 6154752064 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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E154758054 2
6154758055 3
5154758056, 4

Question Number : 15 Question Id : 6154752065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements — One 15 labelled as Assertion (A) and the other 1s labelled
as Reaszon (R).

Assertion (A):  If a teacher wants to improve his or her abilities as an effective classroom
communicator, he or she should first understand the students.

Reasons (R) : The ability to understand students and intended listening are disjointed
propositions.

In the light of the above two statements. choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)

(2) Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(3) (A) 1s true. but (R) 1s false

(4) (A) 15 false. but (R) 15 true

Options :

E15475H057. 1

C1E47EE0ER. 2

154755059 =2

154758060, 4

Question Number : 15 Question Id : 6154752065 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

6154758057, 1

6154758058, 2

E154758059. 3
E154758080. 4



Question Number : 16 Question Id : 6154752066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What 1s the missing term in the series given below?

2.4.6,12, 10,36, 14, ?, 18, 324, .....

(1) 30 (2) 72
(3) 108 (4) 18
Options :
6154758061,
6154758062,

E1547SE063.
E154758064

L e

Question Number : 16 Question Id : 6154752066 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

f=fafiga g@en § 99 % #7127

Tode: 12, 10; 36; 14 ¢ 18, 324 s

(1) 50 (2)y 72
(3) 108 (4) 18
Options :

E1547558061. 1
E154758062. 2
E1547580E3. 3
E154758064, 4

Question Number : 17 Question Id : 6154752067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Apoorav 1z son of Madhu. Vinod 1s brother of Madhu's husband. How 15 Apoorav related to
Vinod?

(1) Uncle (2) Brother
(3) Nephew (4) Cousin
Options :

6154758065, 1
E15475306E. 2
E154758067. 3
E1547538068. 4

Question Number : 17 Question Id : 6154752067 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

5154758065, 1
E154758066. 2
E154758067. 3
E154758068. 4

Question Number : 18 Question Id : 6154752068 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In a certain code “ENGLAND" 1s written as “ULSNYLV". Using the same code. “IRELAND"
will be written as

(1) HQUNYLV (2) QHUNYLV
(3) QUHNYLV (4) HUQNYLV
Options :

6154753069, 1
E154758070 2
E1547538071. 3
B154r58072. 4

Question Number : 18 Question Id : 6154752068 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
5 “ENGLAND” & & “ULSNYLV" 2 1 3di e 9™ &1 ¥4 &4 T “IRELAND” # %2
a0 O 758 IR forgn S ?

(1) HQUNYLV (2) QHUNYLV
(3) QUHNYLV (4) HUQNYLV
Options :

51547580859 1
E154758070. 2
6154753071, 3
E154758072 4

Question Number : 19 Question Id : 6154752069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The ratio of two numbers @ and b 1s 3 ;: 7. After adding 9 to each number. the ratio becomes
9 :17. The numbers a and b are :

(1) (6. 14) (2) (9. 21)

(3) (15. 35) (4) (15.42)

Options :



E154758073. 1
6154758074 2
6154758075 3
E154758076. 4

Question Number : 19 Question Id : 6154752069 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (6, 14) (F) 19;21)
(3) (15, 35) (4) (18, 42)

A

i

Options :

6154758073
6154758074,
6154758075,
6154758076,

T

Question Number : 20 Question Id : 6154752070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The next term 1n the series

AT. EQ. IN, OK. .....1s

(1) UH (2 UP
(3) Us (4) UU
Options :
6154758077
6154758073,

E154758073.
E154758080.

T

Question Number : 20 Question Id : 6154752070 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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AT. EQ, IN. OK. .....

(1) UH (2) UP
(3) us (4 UU
Options :

E154753077. 1
E154758078. 2
E15475380739 3
5154758080, 4



Question Number : 21 Question Id : 6154752071 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"Evervone 1s going to the party. You should go too.” This inference commits which kind of
fallacy?

(1) Ad Populum (2) Eguivocation
(3) Ad Verecundiam (4) Ad Ignorantiam
Options :

E154758081. 1
6154753082, 2
E154758083. 3
E154758084. 4

Question Number : 21 Question Id : 6154752071 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“gT 2 U § A1 TET 2| AR S S 90T 39 AAE F99 § R ° a65eN 27

(1) U2 9oy (2)  EEE (fEERT)
(3)  TUE FiEAree (4) UE TWRfZAY
Options :

5154758081, 1
E154758082. 2
61547538083 3
E154758084. 4

Question Number : 22 Question Id : 6154752072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“All students cleared their examination” and “Few students did not clear their examination”.

This 1s an instance of

(1) Contradictories (2) Superaltern
(3) Subaltern (4) Contraries
Options :

E154758085. 1
6154758086, 2
E154758087. 3
6154758088, 4

Question Number : 22 Question Id : 6154752072 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl BET T 379 T 30 T G99 AT SET A 39T e 39 T80 6

77 Tritwa | & e g 27

(1) T (2)  AlgHT (W A2 )
(3) BRI R (4) TETEE
Options :

E154758085. 1
E154758086, 2
E154758087. 3
E1547538088. 4

Question Number : 23 Question Id : 6154752073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Product of two consecutive integers 1s divisible by 2. Therefore 4 x 5 (=20) 1= divisible by 2.

This 1s an example of which tvpe of Reasoning?

(1) Abductive (2) Informal
(3) Inductive (4) Deductive
Options :

E154758089. 1
6154753030, 2
E154758091. 3
E1547538092. 4

Question Number : 23 Question Id : 6154752073 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

21 U Ui 1 R G 2 O faarsa 21 ¥4, 4 x 5 (=20) TEN 2§ fagrsT 2

Tz 50 TFR F 75 T 50 27

(1) HAPTHATH (2) =TS
(3) HATTHATH+ (4) #HEH Hh
Options :

E154758089. 1
61547538080 2
6154758031 3
6154753092 4

Question Number : 24 Question Id : 6154752074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The distinction between laukika and alaukika is made with reference to which one of the
following pramanas?

(1) Anumana (Inference) (2) Upamana (Comparison)
(3) Pratvaksa (Perception) (4) S'abda (Verbal testimony)
Options :

E154758083. 1
E154758094 2
E154758095 3
51547538096, 4

Question Number : 24 Question Id : 6154752074 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

4
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(1) H4HH (2) 3F9HH
(3) Toa& (4) Hleq
Options :

E15475380353. 1
6154753094 2
E154758095 3
E1547538096. 4

Question Number : 25 Question Id : 6154752075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Some students are sincere’ 1s an example of which preposition?

(1) Universal Affirmative (2) Universzal Negation
(3) Particular Affirmative (4) Particular Negation
Options :

BE1547538097. 1
6154758088 2
6154758039 3
6154752100, 4

Question Number : 25 Question Id : 6154752075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“FP B FAAHE 7. T2 70 TFR F THaET F 5@ 2 7

(1)  dEdm Tgg (2) T Y
(3)  faum faem (4) Tafre g
Options :

B154758087. 1
6154758088 2



E1547580939 3
E154758100. 4

Sub-Section Number: 2
Sub-Section Id: 61547593
Question Shuffling Allowed : Yes

Question Id : 6154752076 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)
Juestion Label - Comprehension

Q. No. 26-30

The following table gives the percentage of marks obtained by five students in five subjects.
Maximium marks in each subject are given in the parenthesis below the subject name.

Percentage (%) Marks obtained
Student | Maths | Chemistry | Physics | English Physical Education
(100) (150) (150) (100) (100)
A 90 80 95 S0 a0
B 80 T a0 70 80
C 100 95 a5 85 95
D 5 70 60 65 60
E 60 a0 65 50 70

Sub questions

Question Number : 26 Question Id : 6154752077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The ageregate of marks obtained by E 1s :

(1) 262.5 (2) 2b51.5
(3) 393.5 (4) 352.5
Options :

E154758101. 1
E154758102 2
E1547558103 3
5154758104, 4

Question Number : 27 Question Id : 6154752078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What 1s the difference between ageregate marks obtained bv A and C?

(1) 40.5 (2) 41.5

(3) 42.5 (4) 43.5



Options :

6154758105 1
154758106 2
£154758107. 2
6154758108, 4

Question Number : 28 Question Id : 6154752079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which subject. the students have obtained lowest average (%) percentage of marks?

(1) Chemistry (2) Physics
(3) English (4) Physical Education
Options :

E1547551059. 1
6154752110 2
E154758111. 2
E154758112 4

Question Number : 29 Question Id : 6154752080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The agegregate percentage of marks obtained by C are :

(1) 92.20% (2) 94.17%
(3) 95.21% (4) 91.17%
Options :

515475581121
6154758114 2
E154758115 3
E154758116. 4

Question Number : 30 Question Id : 6154752081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What 1s the average percentage of marks obtained by the students in Chemistry?

(1) T4% (2) 79%
(3) 80% (4) 81%
Options :

E154755117. 1
6154752118 2
E154758119. 3
E154758120 4

Question Id : 6154752076 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)



Cuesticon Label | Comprehension

o5 9. 26 T 30

freafetfiga arfes § of= fawdi § of9 o6t go oW B0 w o=t i sl 4w 21 o 9 5 ol
faw % 2 = = #8723 m

(100) [ (150) | (150) | (100) (100)
A 00 30 93 80 90
B 80 75 90 70 80
C 100 95 95 85 05
D 75 70 60 65 60
E 60 30 65 50 70

Sub questions

Question Number : 26 Question Id : 6154752077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) 252.5 {(2) 2515
(3) 353.5 (4) 352.5
Options :

E154755101.1
61547538102 2
6154752102 3
E154758104. 4

Question Number : 27 Question Id : 6154752078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A 3 C % FeA YHFI F1 AR TFa11 27

(1) 40.5 (2) 41.5
(3) 42.5 (4) 43.5
Options :

E154755105. 1
E1547538106 2
61547538107 3
E154758108. 4



Question Number : 28 Question Id : 6154752079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o Taw 4 B 3 a0 370 (%) Ia9a 375 oW 7T 27

(1) R IRIE r-';]-!“‘_“ (2) EI:IFF- = E’]S_ I-
(3) A (4) IHIE fo1am
Options :

5154758105 1
6154758110 2
E154758111. 3
6154758112 4

Question Number : 29 Question Id : 6154752080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

C ZFT A Thd- 9ia9d 33 919 foha T 7

(1) 92,20% (2) 94.17%
(3) 95.21% (4) 91.17%
Options :

£154755113. 1
61547538114 2
E154758115 3
E154758116. 4

Question Number : 30 Question Id : 6154752081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A T3 O S F1 36 Iia9 ITHE #7491 2 7

(1) 74% (2)  79%
(3) 80% (4) 81%
Options :

E154755117. 1
6154752118 2
E154758119. 3
E154758120 4

Sub-Section Number: 3
Sub-Section Id: 61547594
Question Shuffling Allowed : Yes



Question Number : 31 Question Id : 6154752082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s a programming language?

(1) Deep learning (2) Machine learning
(3) Artificial Intelligence (4) Python
Options :

E154758121.1
E154758122 2
6154758123 3
B154r58124. 4

Question Number : 31 Question Id : 6154752082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frafafas § @ =9 o S am 27

(1) =M FHET (2) TS AET
(3)  =EM Fig (4) A
Options :

BE154758121. 1
6154758122 2
6154758122 3
61547538124 4

Question Number : 32 Question Id : 6154752083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match Last I with Last II.

List I List II
(a) WWW (1)  Volatile memory
(hy JAVA (1) Non-volatile memory
(c) RAM (111) World Wide Web
(d) ROM (1v) Programming language

Choose the correct option from the following :

(1) (a)-(1). (b)-(11). (e)-(111), (d)-(1v)
(2) (a)-(11). (b)-(1m1). (c)-(1v). (d)-(1)
(3) {a)-(111). (b)-(1v). (e)-(1). (d)-(11)

(4) (a)-(1v). (b)-(1). (c)-(11). (d)-(112)
Options :

6154758125 1

6154758126, 2

6154758127 2

6154758128 4

Question Number : 32 Question Id : 6154752083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T1-1 1 G-I O FHer &1

=11 =111
(a) Zeog Zoog Soog (WWW) (i)  TREd-Efe i
(b) ST (JAVA) (i)  T-TiEdAsie T
(@ T RAM) (i) =E =mEE
(d) TH (ROM) (iv) SRITI AT

Frafafaa § O od e 99

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(3) {a)-(111). (b)-(1v). (e)-(1). (d)-(11)

(4) (a)-(1v). (b)-(1). (¢)-(11). (d)-(111)
Options :
6154758125 1
6154758156, 2
6154758127 3
E154758128. 4

Question Number : 33 Question Id : 6154752084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which description 1s appropriate among the following for ‘E-Governance'?

(1) To engage. enable and empower the citizens

(2) To provide fair and unbiased services to the citizens
(3) To provide technology driven governance

(4) To ensure people’s faith in E-Commerce applications
Options :

BE1547581259. 1
6154758130 2
E154758131. 2
6154758132 4

Question Number : 33 Question Id : 6154752084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



“F-TgAE" F U FAfaigd § T #F 3@ T3 39 27

(1) AW &1 9UieH, T 3T 99 a4
(2)  AATIERl 1 A 3R 959E Ted Tar o
(3) SR ATierd gemEe A

(4)  Z-FMH IR § F941 F Gvaw gHvEd w4

Options :

6154758129 1
6154758130 2
6154758121, 2
6154758132 4

Question Number : 34 Question Id : 6154752085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s a search engine?

(1) Internet
(2) Bing
(3) Skype

(4) Acrobat Reader

Options :

6154758133 1
1547581324 2
£154758135 2
6154758126, 4

Question Number : 34 Question Id : 6154752085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

feAfgd 0 & % UF O S 27
(1) EEIEr
(2) e

(3) =hizY (skype)

(4)  Thiee {
Options :
£154Y58133.1
E1-4Y58124. 2



E154758135 3
E15475581356. 4

Question Number : 35 Question Id : 6154752086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements — One 1s labelled as Assertion (A) and other 1s labelled as

Reason (R) :

Aszertion (A):  The internet 1s a collection of interconnected computer networks, linked by
transmission medium such as copper wires. fibre-optic cables. wireless

connections ete.

Reasons (R) : World Wide Web is a collection of interconnected documents.

In the right of the above two statements, choose the correct answer :

(1) Both (A) and (R) are true. and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true. but (R) 1s not correct explanation of (A)
(3) (A) 15 true. but (R) 1s falze

(4) (A) 1= false, but (R) 18 true

Options :

6154758137 1
1547581328 2
£154755139 2
6154758140, 4

Question Number : 35 Question Id : 6154752086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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% (R) Tqes A13S 94 Ad; BANAd Yord] #1 0F 9= 2|
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(1) (A) 3 (R) ZHT |21 2 311 (R). (A) =i T2 == 2
(2) (A) FT (R) 3ET B8 ¢ 3 (R). (A) =l T8 =041 T2l ¢
(3) (AT 2, fd (R) 9 497 2

(4) (AT FE 2, g R TE 2

Options :

6154758137 1
6154758138 2
£154755139 2
6154758140, 4

Question Number : 36 Question Id : 6154752087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the Sustainable Development Goals from the list given below :
(1) Zero Hunger
(11) Quality Education
(m) Umniversal Primary Education
(iv)  Clean Water and Sanitation
{(v) Green Agriculture

(vi) Climate Action

Select correct answer from the options given below :

(1) (1). (11). (111) and (1v) (2) (1. (111). (1v) and (v)
(3) (111). (1v). (v) and (1) (4) (1. (). (v) and (v1)
Options :

E154758141. 1
E154758142 2
5154758142 3



E154755144 4

Question Number : 36 Question Id : 6154752087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HEENEd § O TauviE @™ & F291 = T8 Hig
(1) & I (S B

(i)  TorETel e

(i) T gTeiEs e

(iv) =9 94 31T THF=ad]
(v)  Eid 5

(vi)  eIar] H

Tfeiigd Toehedl 4 O T8l 308 =l 999 iy

(1) (D). (ii). (iii) AT (iv) (2) (1), (). (iv) 3 (v)
(3) (1i1). (iv). (v) 37 (1) (4) (1), (1), (iv) 3T (vi)
Options :

61547551411
E154758142 2
E154758142 3
5154758144 4

Question Number : 37 Question Id : 6154752088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match the following two sets. Set I lists the names of states. while Set II indicates state

specific missions.

Set I Set IT
(a) Andhra Pradesh (11  Mukhya Mantr Jal Swavalamban Abhivan
(b) Gujarat (1) Jalyukt Shivar Abhivan
(c) Maharashtra (111) Neetl1 Samrakshana Udvamam
(d) Rajasthan (1v) Sujalam Sufalam Jal Abhivan

Select correct answer from the options given helow :

(1) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(2) (a)-(1v). (b)-(111), (c)-(11). (d)-(1)
(3) (a)-(11), (b)-(1). (¢)-(1v). (d)-(111)
(4) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)

Options :

6154755145 1
6154758146 2
6154758147, 3
6154755148 4

Question Number : 37 Question Id : 6154752088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Freafafaa 21 921 =1 gafad Fiau) T2-1 8 U9 F 9" 37 T2 1 79 A aive (o) f5gom 2
| 211
(a) HTH FaW (i) TEIE 9 e AEH
(b) T () A SE AIE
(c) THEATE (i) I e Sy
(d) T=EIH (iv) HSeH TFAH Fe 3=
o i: |: [ T s ﬁ ].q_ PTL:?[ H %I’ 2 EI F‘ r :

(1) (a)-(1). (b)-(11). (c)-(111). (d}-(1v)
(2) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(3) (a)-(11). (b)-(1). (c)-(1v). (d)-(111)
(4) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

Options :
6154758145 1



E154758146 2
61547558147 3
5154755145 4

Question Number : 38 Question Id : 6154752089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Average nolse levels in heavy traffic zones in major cities 1n India are generally in which of
the following ranges of noise levels?

(1) 31-40 dBA (2) 41-50dBA
(3) 70-95 dBA (4) 110-120 dBA
Options :

E1547551459. 1
E154758150 2
6154758151 3
6154758152 4

Question Number : 38 Question Id : 6154752089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

qd =+ @2 9l 4 T AW &30 1 A0 @ w0 A9 J8 1 eiaigd 1 O g el ol F 9w
B 27
(1) 31-40 dBA (2) 41-50dBA
(3) 70-95 dBA (4) 110-120 dBA
Options :

61547551459 1
6154752150 2
E154758151. 3
E154758152 4

Question Number : 39 Question Id : 6154752090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The Montreal Protocol refers to

(1) Cooperation among UN member countries to combat chimate change

(2) Phasing out the consumption and production of ozone depleting substances
(3) Ensuring environmental sustainability

(4) Safeguarding societal quality of life worldwide

Options :

BE1547558153. 1
6154758154 2
E154758155 3
E154752156. 4

Question Number : 39 Question Id : 6154752090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A=A UIerhic] el Taliad 27

(2) TS T G007 F Je] T2l o Ioq1ed 311 @99 1 T00Eg 9 O IO
(3) T BRI =

(4) 9 Tava 1 SiEa = w1

Options :
154758152 1

E154758154 2
E154758155 3
6154758156, 4

Question Number : 40 Question Id : 6154752091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which category Cochin International Airport has been conferred. the UN's Champion of
the Earth Award?

(1) Policy Leadership (2) Entrepreneurial Vision
(3) Science and Innovation (4) Inspiration and Action
Options :

E154758157. 1
E154758158. 2
5154758159 3
E1547558160. 4

Question Number : 40 Question Id : 6154752091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FHH AFYE 2R A2 F1 HEfdfad 1 O 9 9ul O 53 T8 F = A% 7 3 e 23w
27

() i g (2) vl i g
(3)  Tagm #iw Faras (4) T i ety
Options :

E154758157. 1
6154758158 2
E154758159. 2
E1547538160. 4

Question Number : 41 Question Id : 6154752092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following modes of admission was prevalent in Nalanda University in ancient
times?

(1) Entrance Examination (2) Interview
(3) Good Academic Credentials (4) Peer Discussion



Options :

6154758161 1
154758162 2
E154758163 2
6154758164 4

Question Number : 41 Question Id : 6154752092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TAAHTA 1§ ATl 99 Taameal 0 eigd 4 3 F4 =5 7997 fatg s1iaare =7

(1) 999 T (2) IR
{(3) 30H ﬁ?ﬂ WEZ q:iq_a (4) TEHAT ==
Options :

E154755161. 1
6154758162 2
E154758163. 3
E154758164. 4

Question Number : 42 Question Id : 6154752093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What are the current challenges 1n the field of higher education in India?

(1) Expansion

(11) Equity

(m) Funds

(1v) Examination Reforms
(v) Excellence

(v1) Entrance Examinations

Select correct answer from the options given below :

(1) (1). (1) and (v1) (2) (1), (1) and (1v)
(3) (111). (1v) and (v1) (4) (1). (1) and (v)
Options :

BE154758165. 1
E154r758166. 2
E154758167. 3
6154752168 4

Question Number : 42 Question Id : 6154752093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) T

(11) AT
(i)  FfEEm

(iv) & g4n
(v) he

(v1) o JEET

= f5u T fowed § 9 T 39 96

(1) (@), (i) 3T (vi) (2) (1), (ii1) ¥ (iv)
(3) (i), (iv) I (vi) (4) (D). (1) 3T (v)
Options :

E1547558165. 1
E154758166. 2
E154758167. 3
61547581658 4

Question Number : 43 Question Id : 6154752094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following emphasized that education needs to be managed 1n an atmosphere of
utmost intellectual rgour. zeriousness of purpose and of freedom essential for mmnovation
and creativity?

(1) National Policy on Education—19683

(2) National Policy on Education—1986

(3) NITI Aavog-Three Year Action Agenda (2017-18 to 2019-20)
(4) Draft National Education Poliecy—2019

Options :

£154755169 1
6154758170, 2
6154758171, 3
6154758172 4

Question Number : 43 Question Id : 6154752094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ffoifiad § 4 FFod o0 od W 5 o T 5 e w1 gaee Ao aitew o A v JaEn
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(1) g Toveqn ifd, 1968

(2) T Toeqr Hifq, 1986
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Options :

6154758169 1
6154758170 2
6154758171, 3
6154758172 4

Question Number : 44 Question Id : 6154752095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

From the following, identify the organisation that provides a common platform to all
universities including institutions of national importance :

(1) University Grants Commission
(2) Association of Indian Universities
(3) Distance Education Council

(4) Indian Institute of Advanced Study

Options :

6154758173 1
6154758174 2
6154758175 3
154758176 4

Question Number : 44 Question Id : 6154752095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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6154758173 1
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Question Number : 45 Question Id : 6154752096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Creation of World-Class Universities requires :

(1) Autonomous governance

(11) Focused funding

(nm1) Control over evaluation mechanism
(1v) Independent outcomes

(V) Appointment of staff by the State Machinery

Select correct answer from the option given below :

(1) (1), (11) and (v) (2) (i1). (11) and (v)
(3) (111). (1v) and (v) (4) (1). (1) and (1v)
Options :

B154758177. 1
6154758178 2
61547538179 3
6154752180 4

Question Number : 45 Question Id : 6154752096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 2 Wrong Marks : 0
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B154758177. 1
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Read the following passage carefully and answer gquestions from 46-50.

Intra-industry trade arises in order to take advantage of important economies of scale 1n
production. That 1s. international competition forces each firm or plant in industmal
countries to produce only one. or at most a few. varleties and styles of the same product
rather than many different varieties and styles. This 1s crucial in keeping unit costs low.
With few varieties and stvles. more specialised and faster machinery can be developed for a
continuous operation and a longer production run. The nation then imports other varieties
and stvles from other nations. Intra-industry trade benefits consumers because of the wider
range of cholces. 1.e.. the greater variety of differentiated products. available at the lower
prices made possible by economies of seale 1n production. Because of this. large welfare gains
arise from the abilitv of consumers to greatly increase the variety of goods that thev can
purchase through trade. The 1mportance of intra-industry trade became apparent when
tariffs and other obstructions to the flow of trade among members of the European Union. or
common market were removed 1n 1958. It was found that volume of trade surged but most of
the increase involved the exchange of differentiated products within each broad industimal

classification.

Sub questions

Question Number : 46 Question Id : 6154752098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The 1mpact of international competition on intra-industry trade can be seen 1n

(1) the availlability of wide varieties of products
(2) the limited varieties of the same product
(3) adverse effect on industrial production
(4) restrictive advantages of production
Options :

E1547558181. 1
6154758182 2
6154758182 3
6154758154 4

Question Number : 47 Question Id : 6154752099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Mass production of a few varieties of products will result in

(1) low cost of unit
(2) advantage to industrial economies of scale
(3) benefits to the customers of important economaies
(4) increased cost of production
Options :

£154758185. 1
E154758186. 2
E154758187. 3
E154758188. 4

Question Number : 48 Question Id : 6154752100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Development and use of specialised machinery will lead to

(1) more varieties of products (2) decreased consumer welfare
(3) 1import of varieties of product (4) hindered intra-industry trade
Options :

51547581859 1
6154758130 2
E1547538131. 3
E154758192. 4

Question Number : 49 Question Id : 6154752101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Lower product price means

(1) continued production run

(2) absence of choice

(3) increase 1n trade information exchange
(4) increased consumer purchasing power
Options :

E1547581392. 1
61547581394 2
E154758195 3
E154758196. 4

Question Number : 50 Question Id : 6154752102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What was the consequence of removal of barriers to the flow of trade 1n European Union?

(1) Sluggish intra-industry trade

(2) Flow of uniform products

(3) Spurt 1n trade volume among member states
(d) Emphasis on differentiated products

Options :

6154758197 1
6154758198 2
6154758199 3
6154758200, 4
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Correct Marks : 2 Wrong Marks : 0
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E154758189. 1
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Single Line Question Option : No Option Orientation : Vertical
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BE1547558193. 1
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E154Y58198. 2
£154Y58199. 3
154758200 4

PART 11 Psychology

Section Id : 61547530
Section Number : 2
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questions to be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 61547596
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154752103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



